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Choose the cor rect answer .

If nis any positive integer then n? > n+ 3 for

@n>2 (b) n>3 (@ n<2 (d) none of these
a+xis
(& atrinomial (b) abinomia () amonomia (d) none of these
Inthe expansion of (a+ x)" thegenera term T, , is
n n-r r n rn-r n ryr
C) [ j a— X (b) [ Ja X (9 [ :Ja X (d) none of these
r r r—

1 7
The number of the terms in the expansion of (XZ - _Zj is

X
@2 (b) 7 (98 (d) 12
If the middle term in the expansion of (a+ X)" is (g +1j thennis
(a) even (b) odd (©) prime (d) none of these
The first three terms in the expansion of (1+ x) ™" are
(@ 1+ X+ X2 (b) 1— x—x? (© —1- X+ Xx? (d) 1-x+ x?
The first three terms in the expansion of (1-x) > are
(@ 1+3x+6x° (b) 1-3x+6x° (@ —3-3x-6x>  (d) 1-3x-6X°
The sum of the odd coefficientsin the (a+ x)* is
@14 (b) 12 (08 (d 4
If nisany positive integer then 3+6+9+...+3n=

3n(n+1 2n(n+1 n(n+1)°
@ 0D o 220D © T (g anme
2 3 4

If nisany positiveinteger then 2" > 2(n+1) istruefor al
@ n<3 (b) n<3 (9 n=>3 (dn>3
If the exponent in the binomia expansionis 6, then the middietermis
(@ 2" term (b) 3%term (c) 4" term (d) 5" term

The expansion of (1+2x) 2 isvalid if
1
(a)|X|<§ (b) [ x|<1 © |x|<2 (@ [xk3

oo} e

(atrinomial coefficients (b)binomia coefficients (c)monomia coefficients (d) none of these
The coefficients of the equidistance from beginning and end of the binomial expansion are

(& equd (b) unique (c) zero (d) none of these
The sum of the exponents of a and x in every term of the expansion of (a+ x)" is
(@ ntr (b) r (©n (d) none of these

ny(n)(n n
When nis a negative integer then , , are
o/j\1){2 n

(a) negative (b) positive (c) zero (d) meaningless
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12
The middle term of the expansion of (g + %) is
X
@ % (b) —% (© 6—254 (d) none of these
X
5 5 5 5 5 5
+ + + + + =
0 1 2 3 4 5
(a 16 (b) 32 (c) 64 (d) none of these
If x is so small that its square and higher powers can be neglected then (14—+)); =
- X
25x 24X 24X 25x
2——— b) 6——— 6+— 2+—
@ 2 (b) - (© 7 (d) 2
By means of binomial theorem (0.97)° =
(a) 0.6543 (b) 0.9127 (c) -0.9127 (d) none of these
11

which term of the expansion of E X— i involving x°

2 3K
@ T, (b) T, ©T, @ Ts
[dentify the series 1+ — 1 +— L 3 135 —— +... asabinomia expansion and show that its sumis

3 3 6 3.6.9

@ 2 (b) +/3 © /5 (d) none of these
The exponential of (1—3x) " isvalidif
@ [xk1 () | x| 3 (c)|x|<% (d) l of above
The sum of the coefficients in the expansion of (a+ x)° is
@32 (b) 16 (08 (d 4
If nisany positiveinteger then ni> n? for
@ n>4 (b) n>4 (0 n=3 (d) none of these
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